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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800

2600

2400 -

2200 -

2000 Warning: col ['ECC’, 'FVIEC'] is missing

0 10 20 30 40 50



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

arning: col ["PHC', 'FVIPH'] is missing

10

20

30

40

50




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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10:35 294 150.0 FH| 1BRi%@10:35 Bz (kAERSE)
13:05 294 150.0 FH| 1Bi&@13:05 Bah (RAERSE)
21t 1176.0 (4%%) 600. 0 32353 KEC: 2080.0, PH: 5.6

MERRNER S STREAERSE (191.0 : 138.0), AJEEHF—RZ XA45
ZRIAPRIERE138.0 ml.
#[ERECE (2040. 0 vs 3453.0) id 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=50 (2025-05-22)
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-12

BYE) | GEBERTIC (B)) | EBE (EA/#K) | XS e

07:20 294 150.0 |Z=| 1Ri&e07:20 Bzl (GRAEEEE)
07:45 294 150.0 |Z=| 1Ri%e07:45 Bz (GRE{RESE)
09:45 294 150.0 |Z=| 1Ri%e09:45 Bz (KFERHSE)
10:45 294 150.0 |Z=| 1Ri%e10:45 Bzh (RFERESE)
11:40 294 150.0 |Z=| fRi%e11:40 Bz CGGREMRESE)
12:35 294 150.0 |Z=| 1Ri%e12:35 Bzh (GREMEESE)
13:25 294 150.0 | 1Rige13:25 Bzh (GREMERSE)
14:25 294 150.0 | BRige14:25 Bz (GGREAERSE)
15:30 294 150.0 S| {Ri&e15:30 Bzh (REERSE)
2it]2646.0 (9%) 1350.0 EUFHREC: 2080.0, PH: 5.6

TERRHLER 2 STEEART (191.0 :

ZRIAEBRIERE147.0 ml.

HEEHECE (2163.0 vs 3617.0) 15

147.0), AlEEHT—R % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=49 (2025-05-21)
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P3-12

BYIE) | BT (F)) | s (EFA/#R) | XS ERR

08:00 294 150.0 BE| 1Ri%e08:00 Bz (RFEERSE)
08:40 294 150. 0 S| 1Rige08:40 Bal (REEZE®R)
09:50 294 150.0 RS {Ri%@09:50 Bz (REERE)
10:45 294 150.0 RS {Ri&e10:45 Bz (REERESE)
11:35 294 150.0 S| Rige11:35 Bz (REAERE)
12:35 294 150.0 S| 1Rige12:35 Bzh (REAEESE)
13:20 294 150.0 el Rige13:20 Bal (REAEHSE)
14:20 294 150.0 [Z=| 1Ri%e14:20 Bz (GGREAERESE)
16:15 294 150.0 |Z=| 1Ri%e16:15 B (RFA{EREE)
2it]2646.0 (9%) 1350. 0 329333 %EC: 2080.0, PH: 5.8

TERRHLER 2 STEELRT (191.0 :

ZRIALBRIERE159. 0 ml.

HERECE (2410.0 vs 3863.0) 15

159.0), FAlEEHT—@ L XA HS
AERERMEC (2410.0) 5i%EEC (2000.0) RELK KA, /T




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=48 (2025-05-20)

150 Fmm e e e e m e m e m e m e m e m e m e mmmm e mmmCm e mmo =1
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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